201 8 FERE ERHF A2 (SE2FR)

IRD_DDEEE f(x), g(x) ZERRU, (go f)(x) & (f o g)(x) ZKRDK.

a) f(x)=x2—-1, gx)=2x+1

—3x

b) () =5 ) =

Q f)=x+1, glx)=[x+1

d) f(x) =4" g(x) =log, x
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F) =1=%, g0 = ——, h(x) = % ET5.

_xl

a) SHBIH (f 0 g)(x) & (g 0 h)(x) ZXRDE.

b) ((fog)oh)(x) & (fo(goh)(x) ZRS, BEN—HIDILATRE.
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x—3

Jx) =

Legz,

a) R f1(x) BRDHK.

b) (f7'e fHx) &

(f o f7H(x) ZZENZNEHEE L.
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TORDTSDE, B8y = f(x) DISTTHD. TDOEEH y = f~1(x) DISTE, y = f(x)
=50 | BBILIEEDTHD. y = £~ (x) DTS IETORICBZAM.
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f(x) = —/3x+6ET3.
a) f(x) DEEGEBEZTRE.

b) BEIH £~ (x) ERDEL.

o fl(x) DEEEE(EEERE.
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d) y=f(x) DISDEEEH y = [~ (x) DTS IZHIT.
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